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@®© (bx—-y)+ (3x—2y) =8x—3y
@ (x> +x%2—6x+7)—(2x3 —4x? = 1) = 3x> + 5x* —6x + 8
@ (xy+ 07 - %) - (3x% — xy)

= 2xy + xy? — 4x?

@2 +1)(3x2 - 20— 1)
=3x*-2x3-2x2 +2x -1

© (¢ -3xy% = 2%) + (x +y) = % —xy - 2”

(2 +1)Bx?-2x-1) =3x* -2x3 + 2% - 2x -1
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Ax—A+Bx—-2B=2x-3
(A+B)x—(A+2B) =2x-3
LA+ B=2
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(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*

® (a-b)(a®>+ab+b?) =a® - D>
®

(a+b)(a® —ab+b*) =a® +b?
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(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*
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¥ -2x+3=a+b(x-1)+cx(x—1)
=cx?+(b-c)x+a-b
¥ =2x+3=cx*+ (b-c)x+a—bolA
c=1,b-c=-2,a—-b=3
Aste] E0
ca=2,b=-1,c=1
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f(x)=(x+3)(x=6)0(x) + x— 20| B2
£(-8) =5




A f(0) S x4 12 e B2 o), U AE Rolety & o),
xf(x) - 32 x+ 12 U B3} U] =2
@ XQ(X),—R—B @ xQ(X),—R+3

© #0(x).~R =6 @XQ(XHR,—R—?,

® xQ(x) +R,-R+3
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f(x) = (x+1)0(x) +R
5oxf(x) = x(x + 1)Q(x) + xR
wxf(x) =3 =x(x+1)Q(x) + xR -3
=(x+1) {xQ
=(x+1) {xQ

x)}+(x+1)R-R-3
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BADx(ErD), A=) x(1#F)
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A4x1x2+ (-3)x2x2 =8+ (-12) = -4




8. (x=3)(x—1)(x+2)(x+4)+24 F AEMHH (x+a)(x+b)(x*+cx+d)
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x2 +x=AZE AgolH
(x=3)(x-1)(x+2)(x+4)+24
={(x=-1D(x+2)H(x-3)(x+4)} + 24
=2 +x-2) (x> +x-12)+24

— (A-2)(A-12) + 24
—A2-14A +48 = (A—6)(A—8)

=2 +x-6)(x2+x-28)
=(x-2)(x+3)(x* +x-28)
fatbtc-d=-2+3+1-(-8) =10
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2l AABC A a® + b3 + 3 —ab(a+ b) +
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@ a=b3 I5HAZY @ a=col o5 HAZHY
G) A =90°00 AR @ /B =90°% A7

a® +b% + ¢ —ab(a+ b) + be(b + ¢) — ca(c + a)
=a®+b% + ¢ - a®b — ab® + b*c + bc? - c*a - ca?
=a®-(b+c)a® - (b +c*a+b> + b*c+ b + 3
=a*—(b+c)a® - (b* +c?)a+b*(b+c)+ A (b+c)
=a® - (b+c)a® - (b* + *a+ (b+c)(b* +c?)

=a® - (b+c)a* - (b*+c*)(a—b-c)
=(a-b-c)a® - (> +c?)(a-b-c)
=(a-b-c)(a®-b>-c?)
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N=5(29%+3-2924+3-29+1)
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